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Total Time - 3 Hours 20 minute Full Marks : 80
TAATE: 37 20 fame quileh - 80

General Instructions / amm= a7 -

This Question booklet has two Parts - Part-A and Part-B.

Part-A is of MCQ Type having 40 marks which-are to be:answered on’the
OMR Answer sheet which will be provided separately. Part-A has:to
answered first from 2.00 pm. to 3. 35 pm and the OMR. Answer Sheet has
to be handed over to the Invigilator by 3.35 p.m.

Part-B is of Subjective Type having 40 marks which are to be answered
in the Answer book provided separately. Part B has to be answcrcd J'rom
3.40 p.m. to0 5.20 p.m. - i : ax
Candidates can take away the Qucstwn Booklet after completlon of thc
Examination.

39 U3 IFAF1 O 21 WM # — "E-A G991 }m-B.

UM-A G 40 3% % Fglahedrd YA & f9% I em 8 f@ ¥ OMR I wF W
fafga #7 | 9M-A F I 9FA 2.00 AUH ¥ 3.35 JAWEG d% o HO T4 IGH
I OMR I 9% d1a% H 3.35 39TE W« & |

AM-B 4 40 ¥F F a7 ym ¢ fe 3w aem 8 f | sw gfesm w g«
F | WM-B F IN & [T 499 3.40 YU & 5.20 AYUE % fuif@ @ |
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PART-A / WT-A
( MCQ BASED QUESTIONS )

e N eReredia snnfE vy )
Flnss-lg

Sub.-Economics F.M.-40 Time -1 Hour 30 Min,
T-12) | (Rwa- a-1 4

_— aehv ) (quits-40) (FFa-1 uel 30 fime)
INSTRUCTIONS / ECh) i

l . C » F
arcfully fill up the necessary particulars on the OMR Answer Sheet.

SR 6% wft o OMR o o wowt |

2. P r o 1
Ut your full signature on the OMR Answer Sheet in the space
provided.

AT AT W FAE OMR IR T W & 7T 578 T Y |

There are 40 Multiple Choice Questions in this Part.
wwﬁ%wﬁg—ﬁmﬁam% |

All questions are compulsory, Each question carries 1 mark.

il T F I T R e v ) s 1 st it 2

S. There is no negative marking for any wrong answer,

Ted 3T & T 18 3f% 78 $1er SRy

©. Read all the instructions provided on page 2 of the OMR Answer
Sheet carefully and do accordingly. |

OMR I T % 78 2 W ¥ad wft fdwi 9 wmqess o3 awr 8% am@n
& H| ‘
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Four options are given for each question. You have to darken duly
the most suitable answer on your OMR Answer Sheet. Usc only

Blue or Black Ball-Point Pen. The use of Pencil is not allowed.

TRF T § 9N fyeey R M € | s A v Sugw I A AW HH OMR
I U SN - TR e | et A A Hren wiei-wEe Fo
T R 4R o afla R

Adhere to the instructions provided in the OMR Answer Sheet
very carefully otherwise your OMR Answer Sheet will be treated as

invalid and it will not be evaluated.

OMR I T W 2 1 el &1 emgqds qrem e srgen AeHt OMR
IR UAS FATG EIN 3N ITHT AR TG A1 SR |
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J/' Which problem of an economy is related to the choice of technology

of production ?

(1) What to produce ?

(2)  How to produce ?

(3)  What quantity to produce ?

(4)  For whom to produce ?

arereren W) R TR 1 oY IR B awn & T 4§ 2
(1) o 3SERA R 7 ()2 HY IR FH ?

3) fratamd SR W 2 (4) fead o I w2
The capacity of a commodity to satisfy hu.rnan want is

(1) Consumption (2)  Utility

(3)  Quality (4) Taste

el e Y AR STTEvEeT W HA hI G €

(1) oM @, Iugifer
(3) T - ()
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+3¢  Who proposed the ordinal of utility analysis ?

(1)  Adam Smith (2)  Hicks and Allen
(3) Marshall (4)  Pigou

YA & shyeTae favesor o ufques fmaq fear a1 2

(1) usH oy Q/ﬁrwaﬁtqﬁq
(3) TwE (4) i

G Following figure shows

Y

Price

X
o Demand

(1) Inelastic demand
(2)  High elastic demand
(3) Perfectly elastic demand

(4) Perfectly inelastic demand

XSC-ECO-(OPT)-SC (12)/6075 | 5 / 32
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T |2 2
X
O dmamm
(1) ¥wRET ) s e
Br T SRR (4)  qoia: SEERR A

The demand for which type of commodity decreases with the "~

increase in the income of a consumer ?

(1) Normal goods (2)  Inferior goods

(3) Complementary goods (4) None of these
JYAIRHT W 3 Tg | fF9 R 3 a5 # w1 wedt ¥ 7
(1) 9 a9x 2 gicar T

B) W& A (4) T | HIE T

XSC-ECO-(OPT)-SC (12)/6075| 6 / 32




Download PDF from - JACBoardSolutions.com

ECO

@ Science/Commerce

B Long run production function is related to

(1)  returns to scale (2) law of variable proportion

(3)  elasticity of demand (4) none of these

HIH I Fold & =5y I o @ g € 2

W TE % iawe | (2) IREdEiIe U % FEd ¥
(3) HM W A= H (4) 9 Q FI13 T

s\'{/ Production function is expressed as
(1) ©Q,=D, 2) 0, =P,
(3) Q, = f(A,B,C,D,E) (4) None of these
(1) ©Q,=D, (2 O,=P

8 0,=f(ABC,DE) (4 T BE T
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: . % gt vr ik T 'h“—
8 Fixed cost of production of an article is RS. £/), ‘What will b7

- | - - -" L “f
average fixed cost of producing 10 units of that 2712

(1) Rs.50 (2} Rs.25
(3) Rs.6 (4) Rs.60
wE T T TS w e @R 60 598 21 3 5 5= 16 752 AT
i 94 T @rA =] ZTT 7
(1) 50 %e (2) 257%¢
By 6% (5" €070
9)(\- What does the distance between two isoquant curves reprezent ?
(1) Difference in production level
(2) Difference in uulity -

(3) Difference in cost

(4)  Difference in profit

Il * X%

- . - e - - .
2] ARFIZ 7 & T9 &1 241 34 A Hn 8 7

-
*

e -~ - -
Ny THmmmAdes g7 T

-
= =T

(3) @A A 7= (4) EE 7=
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1077 Which of the following is correct ?

X

(1]  TVC = TC - TFC (2) TC=TFC-TVC
(3) TFC = TVC + TC (4) TC = TVC x TFC
g i d s @@ e ?

1y~ TvE = TC - TFC (2) TC =TFC -TVC
(31 TFC = TVC + TC (4) TC =TVC x TFC

Which cost does not change with the change in output ?
(1} Marginal cost (2) Total fixed cost

(3)  Average fixed cost (4)  Average variable cost

I S qET 4 uiEdd & W 69 ara ° giEdT Tel gt e ?

(3) 3ma fer e 4) 3ga giad dra

\l}. The shape of average cost curve is

(1)  U-shaped (2) Line parallel to x-axis

(3)  L-shaped (4)  None of these

XSC-ECO-(OPT)-8C (12)/6075] 9 / 32
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sfis el w30 a3l gl x
U EeE AR (2 & Atk 4 2 ity
(3) | @ AW (1) PR A 4id “It
In which market AR « ME 2
(1) Perfect competitian
(£) Menapoly

13} Monopolistc compeuuon

(4y  All of these

‘}r o S (2] TEfuEiT

I«

| oy

A

X
)
3
A}
|
|
2
&
i

In whichi of the f[ollowing markets differendated poods
g

(1j  Periect competition (Z}  Monopolistic competition

2] Monopoly (4)  All of these

fare
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(1)  goT wiagiTe \gy’wmhmﬁaﬁﬁﬁm
(3) UHTYFR (4) TG I

JZ  The basic condition of firm’s equilibrium is
(1) MR-=AR (2) MR=TR

(3) AR=TR (4) MC=MR

T F Hed B g O §

(1) MR =AR (2) MR=TR
(3) AR=TR 4~ MC=MR

JB.  “Supply creates its own demand.” Who said this ?

(1) J. B. Say (2) Adam Smith

(3) Marshall (4) Pigou

“gid S o 5 = g9 @E w0 ol 21 9% TR = 2

D% A9 | (2) wEH &y
(3) T (4) G
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(1) Supply increases (2)  Supply diminishes

(3)  Supply becomes zero  (4)  Supply remains unchanged
TR TR § et s Y 9 X R ST Bl € 2
1) Aakeds ) qremaet
g
(3)  9fq = g e @ (4) gff eraftafaa et &
@/ Market price is defined as

(1} Short run market (2) Longrun market
(3)  Very long run market (4)  All of these
INR o4 i gitsfe fpar siam &
(Y~ FTHEAT TR | (2) el TR}
@) o Al T (4)  H & @t

3R, If there is excess of demand, then the price tends to
(1) fall (2) increase

(3)  be zero (4)  be unchangeq

XSC-ECO-OPT)-SC  [(12)76075] 12 / 32
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Ftuy H st Rafa 9 wia A iy g @
3) YIEA W (4)  STURETdd 81 i

207 Price of a good is determined at a point where
(1) Demand of the commodity is high
(2) Supply of the commodity is high

(3) Demand of the commodity and supply of the commodity are

equal

(4) None of these

A 39 fag R iR et & <@l
(1) o T Y
(2) F g
@ e s s e o A

(4) T 4 BIE TR
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%t' Who is the writer of the book ‘The General Theory of Employment,

Interest and Money’ ?
U} Adam Smith (2)  Alfred Marshall

I\(9/ J. M. Keynes (4) Ricardo

T S e i e, T T A R § e

HAE ?
(1) UsH & (2) 3Bk AR
(3) ?‘r. TH. e (4) TEpret

2% What is the relationship between GNP and NNP ?
(1) GNP = NNP - Depreciation
(2) NNP = GNP + Depreciation
(3) NNP = GNP - Depreciation
(4) GNP = GDP + Depreciation
GNP 37X NNP § &7 "y & ?
(1) GNP = NNP - faqme (2) NNP = GNP + fqamse

(3¥ NNP=GNP-T@Z  (4) GNP =GDP + fyame

XSC-ECO-(OPT)-SC (12)/6075| 14 / 32




‘Download PDF from - JACBoardSolutions.com

ECO
Science/Commerce

.g}.( An examplc of a stock variable is

(1) Inflauon (2) Capital

(3) Income (4) Expenditure
WEH W H & K €

Oy Tl sl

(3) g 4) =

23/ To include the value of goods or services more than one time while

calculating National Income is called
(1)  Single counting (2)  Multiple counting
(3) Double counting (4) None of these

TS HA & hei § fwdl a8 a1 9§91 1 79 0 ¥ dfus ar e

AT FHEedl €
(1) T&Hel Tl (2)  <TgeT U
@ STt T (4) T | FE T
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g of which of the

\&»7 Wheat is an intermediate good in manufacturin

following goods ?

(1)  Bread (2)  Biscuit

(3)  Chapati (4)  All of these
ﬁmﬁﬁ%&aﬂﬁﬁﬁtﬁmﬁﬁ%wmﬁ?m% ?
(1 = ) fge

(@) = | W w @

@p./ The function of money is

(1) Medium of exchange (2)  Store of value
(3) Measure of value (4)  All of these
TET 1 FE &
(1) fafma =1 "nam (2) T w1 Uy
()  TFd H @ T @
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277 Who said, “Money is what money does” ?

(1) Robertson (2) Keynes
(3)  Hortel Withers (4) Marshall
fra =, R A R o B

(1) - TEw (2) F
By e (4) T

s,gp./'l‘hc central bank c;i”lndia is

(1) Central Bank of India (2) Rescrve Bank of India
(3) Bank of India (4)  State Bank of India
WA &1 TF H51g 39 ¢

(1) Izl &% 3% sz (21wl Rl 3%

(3) % 3% 3fea (4) WRdIE e &%

XSC-ECO-(OPT)-SC (12)/6075 | 17 /7 22
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29¢ Main function of central bank is

(1) The b.anker agent of central government
(2) Bank of banks

(3)  Issuing currency notes

(4)  All of these

g e T FH §

(1) S SR & da G (2) 99 B9
(3) e S T @ FEEE

‘{_39./ The autonomous consumption in the consumption function

C=A+bYis
(1) C 20 A
3) B (4) bY

ST BT C= A + bY § WId 304 €
(1) C 2 A

38) B (4) bY

XSC-ECO-(OPT)-SC 12)/6075| 18 / 32
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3 )/ Recession is a state when, in the economy

(1) Production increases

(2) Employment increases

(3)  Employment and production level increases
- (4) Employment and production level falls

TE T8 AEen & 9 e

(1) 37N Fgell &

(2) TR agan &

(3) IR T 3EA &R agal &

J/ TP a4 IeeA W fmen &

\92./ If the value of MPS in an economy is 0-2, then what will be the

value of multiplier ?
() 04 2 35

3) 25 | 4 4

X8C-ECO-(OPT)-SC* (12)/6075| 19 / 32
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(1) 04
(3) 25

Investment multiplier is

1

) ps

(3)  Both (1) and (2)

- T -g

1

() mps’

(3)7 (1) ¥R (2) T

>

Tl sretean § 4t MPS = 0-2 &, @ U

(4)

(2)

(4)

(2)

(4)

ECO

gcience/Commerce

1 T 41 B 2

s

4

1
1 - MPC

None of these

1
1- MPC

=8 | Fig 7ol

Which is the determining factor for investment ?

(1) Marginal efficiency of capital

(2) Interest rate

(3) Both (1) and (2)

(4)  None of these

XSC-ECO-(OPT)-SC | (12)/6075
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et & FuRe ves sm-m & )

(1) o =t Wi e (2) @R

B (1) &R (2) 3 @) A wE @
\3/5./ Which of the following is an example of indirect tax ?

(1)  Sales tax (2) Excise duty

(3)  Both (1) and (2) (4) Income tax

e d & SToegeT R T U 360 -9 € 2

(1) feml & (2) IR qosh

@) (1) 3R (2) 3 (4)  IMEHR

_é;../ What is the difference between Revenue expenditure and Revenue

receipts called ?

(1)  Primary deficit (2)  Revenue deficit

(3)  Fiscal deficit (4) Trade deficit

XSC-ECO-(OPT)-SC (12)/6075 | 21 / 32
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WWQ&WW%WETWW“W%?

(1) Wi el @WW
3) USRS T (4) SR U

Q’?/ Forcign Exchange rate is determined by

(1) Demand of foreign currency
(2) Supply of foreign curréncy
(3) Demand & supply in foreign exchange market

(4) None of these

et fafma &X a1 FufRon gl @
(1) fadel St = ER
(2) fedelt i = o T
% ety fafm TR | W G g9 §)

(«) T Q@ Wb

XSC-ECO-(OPT)-SC 12)/6075| 22 / 32
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38, Balance of trade means

(1) Import & export of goods
(2)  Capital transactions

(3)  Total debit and credit

(4)  All of these

AR Hqe &1 7Y g &

(Y~ TR & e @ g @
(2) I F oA @

@ fae aur #fee 4

4 FE 8w

3& Which of the following items is a component of current account of

balance of payr}lcnt ?

(1)  Foreign direct investment
(2) Foreign aid

(3) Foreign dcbt

(4) Export of goods

XSC-ECO-(OPT)-8C _ (12)/6075 | 23 / 32
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FEtfetfiaer | % Few mg g g 4 e Wi s e by

L]

(1) Faceh g fRy (2)  faieh wema
3 Tl @ il

Which of the following is the cconomic reason of imbalance in

Balance of pPayments ?

(1)

(2)

(3)

(4)

Political instability
Business cycle
International relationship

None of these

YTAH Tt | TETeA &l =1 F @ i anféres wror & 7

(3)

XSC-ECO-(OPT)-SC

(12)/6075
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PART-B / WM-B

( SUBJECTIVE BASED QUESTIONS )
( et s snenfie wew )

Class-12 Sub.-Economics F.M.-40 Time -1 Hour 30 Min.

(@-12) | (fwa-sefwme ) | (quis .40) | (§Wa-1 ga1 30 fire)

INSTRUCGTIONS / fidw -

o

Examinces are required to answer in their own words as far as

practicable.

chtemefl urdve o v § @ I

This question paper has three sections : A, B and C. Total number of
questions is 19.

3H WYHYE W @ @US — A, BUF C € | 0T W Il UEA 19 ¥ |

Section-A — Question Nos. 1 - 7 are Very short answer type.
Answer any five of these questions in maximum 30 words each.

Each question carries 2 marks.
wWug-A § Wy & 1 - 7 AfF 7Y I WER F & | 3 ¥ el ure e

& IW AT | FAF 9vH F I AYFaT 30 v H ST | v v @

afmrar 2 % a1

XSC-ECO-(OPT)-SC (12)/6075 | 25 / 32




Download PDF from - JACBoardSolutions.com

ECO

B
@ Sclence/Commerce

tupe. Answer
Section-B — Quecstion Nos. 8 - 14 are Short answer typ

| : : : ds each. Each
any five of these questions in maximum 50 words
question carries 3 marks.
: : ; g gl & I[N
WUE-B — Y34 &A1 8 - 14 oY (9 2 | T | fel T

mlmmmmmsoﬁﬁﬁmluﬁﬂimﬁ
it 3 37 Puifa 2 |

Section-C — Question Nos. 15 - 19 are Long answer [ype. Answer

any three of these questions in maximum .100 words each. Each

question carries 5 marks.
T@UE-C — Y & 15 - 19 < a8 | 37 @ e i Sl & SW
AR | T@F T H IAC fuehad 100 weal H LRI tuﬁ‘qﬁmaﬁ‘r
sftmrar 5 37 fuifa 2 |

XSC-ECO-(OPT)-SC (12)/6075| 26 / 32
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Section - A

s - A
( Very short answer type questions )
' ( o &g ST v )
Answer any five questions. 2x5=10
- T ot vt & S 3
1.© Define macroeconomics.

gHfee e &t aitafa i

rl

2+~ What is an intermediate good ?

e A R ?

XSC-ECO-(OPT)-SC (12)/6075| 27 / 32
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3. What is average product ?

T IAE FTR 7
4.  What do you mean by market ?
IR Y 9 597 9 § ?
5. Define money.
T i qﬁw Sinied
6. Whaf do you understand by Revcr;ue Receipt ?
T SR R ST R TR 2
‘,V/'What is meant by import-substitution ?

STaTE- ST 9 A €7

XSC-ECO-(OPT)-8C {12)/6075| 28 / 32
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Section - B

_'@Wg -B
( Short answer type questions )
( Y I 9T )
Answer any five questions. 3x5=15
fewt s ST & 3T S |
8. What do you understand by law of demand ?
i % fam @ g T wHe € 2

9. Differentiate between short run production .function and long run

production function.

SR IR Fo 3R STHEAA IEEA Feid § Il WL FIAT |

XSC-ECO-(OPT)-SC (12)/6075 | 29 / 32
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Mention threc features of perfect competitive market.

i Wit SRt @ fwaret ® e

Differentiate between Gross Domestic Product (GDP) and Gross

National Product (GNP).

Fel e SR (GDP) 3N Webet THT S (GNP) H 3iR T i
Money is the fl]ﬁdium of exchange. Explain it.

g1 fafa @1 A €1 T il

What do you understand by effective demand ?

Tt Wi @ 39 &1 GER € 2

A

Write down the objective of government budget.

WEHEA a9z & 32y & faf@)

XSC-ECO-(OPT)-8C (12)/6076| 30 / 32
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Section - C

WUS - C

( Long answer type questions )

( $d svdg vy )

Answer any three questions. 5x3=15

fergt = vt & I S

15. Calculate the price elasticity of demand from the following table :

== AifeTast | T @ SN o S T HIfeT ¢

Price of goods (%] &I Hiud) Demand of goods (a&q = H°im)

8 : 32

6 42

16. Explain the three stages of law of variable proportion.

qREEAYe U & AT & a9 srerenatt @ garRy)

XSC-ECO-(OPT)-8C (12)/6075 | 31 / 32
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17. How is price determined under monopoly market ?

THITUHR TR o s Freior &t g &

18. Explain the Product method and Incomc method of calculation of

National Income.

U 31 Y Mo A ey faf o Searg fafy @ ol @i
19. Explain the Balanced budget, Surplus budget and Deficit budget.

WWWWW%%W#MW:
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